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Just as soon as a man gets working on the secondary
battery it brings out hislatent capacity for lying. [...] Scientifically, storage is !
all right, but, commercially, as absolute a failure as one can imagine. Al

Thomas Edison, 2 February 1883

Inside of 15 years the entire vehicle traction in large cities in the United States
will be done electrically & | am now manufacturing the battery that will permit
thisto be brought about commercially.

Thomas Edison, 6 May 1908
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STORAGE GROSS VALUE
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SELF CANNIBALISATION
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Marginal value of energy capacity
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MARKET FAILURE?
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Value of storage [£/kW!/ year]

SYSTEM AND MARKET VALUE
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System values: Strbac et al., Strategic Assessment of the Role and Value of Energy

Storage Systems in the UK Low Carbon Energy Future. The Carbon Trust
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VALUE AGGREGATION
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System values: Strbac et al., Strategic Assessment of the Role and Value of Energy

Storage Systems in the UK Low Carbon Energy Future. The Carbon Trust
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SOMEBODY ELSE’'S PROBLEM

Generators T Consumers

‘Storage is primarily a Storage should be provided by those
network function who cause the variability
Aggregators

Network operators

) ‘We could offer that as a service—it's kind
As a network operator we cannot

. of what we do. But we don’t really invest in
own generating assets. We would . . .
capital equipment. If our clients had the

refer to contract storage services . : ,
P g storage we could definitely work with that.

from third parties. \/
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VALUE CHANGE IN CAPACITY MECHANISM
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VALUE DOWN — CONFIDENCE UP

— 2GW
=, 7.9 mw 10GW
F s
g
@)
£
& LB
=
@
3
=
§ no CM
(@)
£
£ CM
=
(g9
0
9 ot A ! I I |
Q 0 123 141 262 279 600

Gross value [£/kW /year]



Imperial College

ALTERNATIVES TO STORAGE
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DEMAND SIDE RESPONSE
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CONCLUSIONS

> Value increase with high levels of wind

> Diminishing value with scale (GW / h)

> Efficiency becomes less critical

» System value > wholesale market value

» Value aggregation: somebody else’s problem
» Capacity mechanism is no panacea

> Demand response is a serious compefi e
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